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Note : No supplementary answer-book will be given to any candidate. Hence the candidates should be

the answer precisely in the main answer-book only.
e« Tl # T sw-yfeE oD s a; whenfdal ® wfew fF 9 e sw-gfe | &
THE g & I o

Attempt Five questions in all, selection at least one que'stion from each Section. All questions carry

equal marks.
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Write your roll number on question-paper before starts writing answers of questions.
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SECTION-A /@Uug-31

1. Explain the relationship between economic development and environment with the help of

Kuznets’s Curve. (20)

Foe 9% HI Ferdl § A fTEy $R e & dm e w e st

2. What are the reasons for market failure? Suggest measures to solve the problems of market

failure. -
AR faEEE ® = w82 TSR H e o goen # @ 6 & ST gEEl
3. Di i
1scuss the linkages between Economic DEVEIopmeIlt and Environment. (20)
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SECTION-B / gug-&

Discuss the problems of

services.

Measuring Non-market activities when valuing Environmental

(20)

REICEU IR EIRS e e B g - are wffafiE 9 o 9w B e Hifsu|

Write short notes on the following :-
() Travel Cost Method.

(1) Contingent Valuation Method.

Fefefad & whyg froforal SifT -
1) I A fafy

(1) SRS goiga fafy

Compare the Green GDP with conventional System of National accounting.

EﬁﬁGDPﬁU@HmaﬁWé@mﬁfaﬁwﬁﬁm

SECTION-C / @uz-¥§
Discuss the Policy Instruments for Environmental protection.

e W @ fon A sl 2 e i

What are innovative approach to control Environmental pollutions?

FEiERl Jguu 1 FEfE w9 % fau g gedaen fafia s 82

Write short notes on the following :-

(i) Property Rights and Transaction Costs.
(i1 .
s T i femfor ffed o

Hof & e G TS
araraE H S e P fet 7 SR

adn

) Price Instruments to Correct Externalities.

(i)

(1)

(10+10)

(20)

(20)

(20)

(10+10)
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Attempt Five questions in all, selection at least one question from each Section. All questio
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1.

SECTION-A / @S-
() The mean annual salary paid to all employees of a company was Y5000. The mean annual

salaries paid to male and female employees was 5200 and T4200 respectively. Determine the

percentage of males and females employed by the company. (06)

T wEE % gt s w R T shen wite 4 25000 @ TES iR iwen s w
afv afife 3w 16200 IR 24200 W FEEh @ FarEr § ged Sl wfeenst s

@ S

(b) In a certain factory a unit of work is completed by 'A' in 4 minutes, by 'B' in 5 minutes, by
'C' in 6 minutes, by 'D' in 10 minutes and by 'E' in 12 minutes. What is their the average rate
of working? What is the average number of units of work completed per minute? At this rate
how many units will they complete in a six hour working day? (06)
fret wr@m § & F T R A GW 4 fire #, B g 5 fe |, ¢ gw 6 fome H,
D' 3R 10 3R 'E' BN 12 e # @ S O 1 37w weRn # aied o w3 e e
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T @ W
(¢) Calculate the arithmetic mean from the f‘;’HOWing data - (08)
s aisl @ W e T B -
R e S -
T ture (°C ’
emperature (°C) -40 to -30 | -30 to-20 20to-10 -10t00| 0-10 10-20 | 20.30
d9HH (°C) v '
No. of Days —
: . 10 28 30 49
& Y e e 65 180 10
2. (a)

Goals scored by two teams - A and Bin a foothal 8eason were as follows :-

(07)
Wmﬁfmﬁﬁﬁrﬁ—Asﬁthﬁfwﬂﬁﬁﬁw&wﬂmﬁﬁwm%:—
No. of Goals scored in 3 match 0
\ g 1 2

9 A R T i ) e ] ‘

No. of Matches Team - A 27 8 5

A Hem Team - B 17 6 5 3

Find which team may be considered more consistent,.
mﬁﬁq%aﬂa—ﬁﬁw@aaﬁm@mwwm%n

(b) Distinguish between Skewness and dispersion. 07
T srofe § s oy wHifsm)
3. (a) From the following information find out the coefficient of correlation between age of student
) 12

and their playing habit : o
ﬁﬂtrvfﬁmﬁrmﬁhﬁaﬁmamw@ﬂﬁﬂﬁmq}“wm'w:”"'m :
Age Group (Years) 1 1516 | 16-17 | 17-18 | 18-19 | 19-20 | 20-21
Img-ar (=d)

No. of Studen_ts o 270 340 360 400 7 300
faenfeal =1 dem A :

No. of Regular Players 150 162 170 180 180 120
Frafia faenfedl %t dem

| . 05)
(b) A cost of living index number uses the following weights :

Food 40, Rent 15, Clothing 10, Fuel 10 and Migcellaneous 15.
Duri ;;he period 2005-15 the cost of living index rose from 100 to 205.833 over the same
Tin . 3 !
i dgth rcentage rises in prices were - Rent 60, Clothing 180, Fuel 75, Miscellaneous 165.
period the pe . —
What was the percentage change in the price of food? Find out.
K-0584/5263 y
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(¢) The quadratic trend equation for the profits (i® Cror®
Y, =17.9 + 2.69X + 0.32X" |
Origin - 2015 , X - One year, Y = Crores of Ré:
Swift the origin to 2020.
Wwﬁwq(ﬂqaﬁ)%mwmwﬁqm%_ o
7o fag - 2015, X-T& a¥ |, Y =F0g v
7w fag #2020 # wfiafda wifaw

SECTION-B/@Us-¥

4. (a) Three groups of children contain respectively 3 girls and 1 boys ; 2 girls and 2 boys ; 1 girl and
3 boys. One child is selected at random from each group. Prove that the probability that the

three selected consist of 1 girl and 2 boys is %% (12)
ﬂﬁmw@ﬁm:smmlm;zmﬁaﬂzzm;laﬁaﬂﬁna
rua=d ¥ ¥

mfnmwﬁﬁwﬁéaﬁmﬁm%lmmﬁ?ﬁﬂﬁﬁ

1%%2@%@#3&%% 2
he will get a prize of T 800. The

(04)

(b) 'A'tosses a coin 4 times. If the gets a head all the four times,
entry fee for the game is ¥ 32, What is the mathematical expectation of ‘A'?
'A'wmwuar{am%luﬁarﬁmfaﬂm%?haﬁzaoommﬁﬂm%\@am

AV YO €32 81 A" T Y @ 82

(¢) Inhow many ways can a committee of 6 persons be formed from 7 Indians and 4 Japanese. If

it is indispensable to include at least 02 Japanese in it? (04)

7 Rl qen 4 STt @ W ¥ ¥ 6 S 3w i B v QT w wwd & ke

afafa § FH-V-F9 2 WA @A AEE 72 '
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5. (a) In anormal distribution 31% of the items are under 46 and 8% are over 64, Find the mean

and standard deviation of the distribution. (Hint : Z, ,, = 0.6 & Zop =14 o

wﬁwmwiﬂawﬁ31%m45ﬁmm8%mﬁm@mﬁ;wamwmmam
fiae WA W (T 2, = 0.5 3L, = 14)
() What are the chief properties of normal distribution? Describe briefly the importance of

3 3 - - 4
Normal distribution in statistical analysis. e

Waﬁﬁmﬁmﬁw%?mmﬁﬂmﬁwwaﬁmﬁww
EAIS]

8. (a) Ten workers of a factory were selected at random. The number of units produced by them on

a working day was as follows :

71,72,73,75,76,77,78,79,79, 80.
On the basic of the given data is it reasonable correct to say that the mean number of units
produced by them is 78. (Hint : For 8 = 9, ty = 2.262) (06)
ﬁﬁamm%%aﬁﬁﬁﬁ10ﬁwquw@ﬂmﬁ@uﬁaﬁﬁmwﬁﬁﬁﬁﬁhm@
w1 I fwan At dea fefafaa o

71,72 ,73,75,76,77,78,79,79, 80.
™ gHH B mﬂmwwmgﬁa%%wﬁiﬁmﬂﬁsﬁﬂﬁmn 2?2
(W2 : 9 =9 T t,,,=2.262 ¥)

(b) Solve the following Linear Programming Problem with Simplex Method : (14)
ﬁmt#nmwmmmmm?mmﬁmmﬂﬁmﬁﬁﬁm:

Maximize . n=6X +7%
wftad FIAC
Subject to . 2K 3% =12
e & 2, + %, < 8
X +%20
K-0584/5263 s
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(a)

(h)

(a)

(b)

(c)

2
If production function Q = 3L K~ and per yzit co5t of
respectively. Then find the quantities of Lahourand Capltal

mWoduwddMinMumCost-
o1 ¥ wFrd T BRI 4.0 H

oz FeaA FEA Q = LK’ 0 T o 4
ey W Ia @@ = 1 Hal

ma{a’ta&&mﬁmaﬁhﬂﬁﬁwmmﬂ

If v= q°q} and Budget constraint is 100 = 4q, + 49, then find out the quantity ofq,and q,

which maximise utility. Also find out marginal utility of money. (10)
— Ad -

% v= q’q) B AW T2 WA 100 = 4q, + 4q, B W q, 7 q, ® J{FEAR WA 73 FIL A g3

# dr Fvdfa T wifaw

If MC = 20 + 3¢*™ where Q is output, then find out total and Average Cost function. If total
fixed cost is T 90. (12)
afe MC = 20 + 3" =@l Q oA ¢, @ GA 1w sl @@ werd I Fifsg wafs ma fan
= 290

If Marginal Propensity to Consumption : MPC = 0.7 + 0.1 Y“* and at income Y = 121,C =Y,
then find consumption function. (05)
afx 39 F HeE wgfa  MPC=07+01Y" ¥ 7 Y = 121 M WC=Y W, a 3T
eI IR

Given the following data :-
fye w3 ™ T -
Q, =200-04 5
Q, =-40+06 Fos
and 991 P = T 260.
then
(i) Find price P, for any time

(05405
fedt Wt W & fog s P, 7@ Ty 5+05)

(i) Comment on the stability of time path,
e T # faa W e wifsy
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equaﬁons by Cramer's rule :-

g system of
aﬁﬁmq}ﬁm’m T P -

(a) Solve the followin
PP — Lokl
x+y+z=6
x—y+z=2

2x.+y—z=1

b) If (3AR) -

02 03 02
A=(04 0.1 02
01 03 02

and 97

0
0
1

b
]
OO
[ B

then find (319 ®ifs@) (I-A)"
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Attempt Five questions in all, selecting at least one question from each Section. All questions carry
equal marks.
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Write you roll number on question-paper before starts writing answers of questions.

A % I faed ¥ 1@ WA-w R da v fad)
SECTION-A /@Us-31

1. (a) Explain Hicksian and Slutsky substitution effect for a fall in price. (10)

FAd § wH o H feald F fea qun gt @ wiwum wae @ sren ik

(b) Anincreasein the price of acommodity when demand is unit elastic cause the total expenditure
of a consumer on commodity is (i) increase (ii) decrease (iii) constant or remain unchanged

(iv) any of the above. Use price consumption curve in support of the above mentioned correct

alternatives outcome, (10)

T drRR A @ feafy F, fee o # F I e W 39 9 W SONE # o () 9o §
(ii) W  (iii) feer W & A ewfEfia @@ 2 Gv) S A R B S D s ot w
dofeqss gfomy & gRdH § FAT SUAM 9F F @ F
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2. (a) Explain the concept of Consumer Surplus, (10)
YN T G H AR F T Fifsm
(b) Proye geometrically or algebraically that : (7+3=10)
Price elasticity of demand (ep) = SR
' AR-MR "
Also determine the elasticity of demand for the product of a monopolist who charges Rs. 12
per unit in equilibrium and whose marginal cost of production is Rs. 6.
Yamfordta areran dsmforda fafe o fas i fe
T F F A (ep) = o,
(eP) ="AR-MR
w0 UHHT W awg &1 A F AE i g i, S wger | 12 B9 Wi 3E BIAG qYGS
F ¥ 3R forwd Sewe R @ 6 e 2
3. Evaluate three stages of production. Where would the producer like to be in the second stage of
production? Use tables and diagram. A (20)
S Y A ST T e F) I el S U SRl hel W A
e & et #1 9 Sifa)
SECTION-B / @Us-9
4. (a) Explain Shutdown Point of a firm under perfect competition. (10)
wqﬁﬁmémﬁwﬁmmﬁﬁﬂﬁwﬁﬁm
(b) Describe the excess capacity under monopolistic competition. (10)
e QIO CT i Bl o etfaftaa el 1 9o Sifsal
5. What is Price Discrimination? Explain the equilibrium of a discriminating monopolist when he is
discriminating prices in the two markets. (5+15=20)
. ﬁmﬂé?wﬁwﬁ@ﬁmiﬁmaﬁﬂwﬁﬂmwﬁmﬁmﬁ%ﬂe
F 2
6. Explain price leadership under Oligopoly. (20)
SR @ S EA g B e
K-0582/5261 2
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SECTTION.¢ | qUT-W

Explain with illustrations Pareto criteria of Maximizing economic welfare. What happens to social

welfare if the produet and factor markets are (16+4=20)

not competitive?

SRV Wi sifian mﬂawm%gﬂiamwmﬁmﬂwﬁﬁwmmm’f
NIERURS qﬁﬁmwmwumm?

Elucidate the Kaldor-Hicks Welfare Criterion. 20)
FTU B FeSR - o 1 g iR

Write shorts notes on the following —

= w S feafirt fafed -

(a) Backward bending supply curve of labour. (10
e i R qE@ gon om W 9 o

(b) Theory of Second best.
et g fagm

(10)

aaa
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the answer precisely in the main answer-book only.
frdt ot whiendl w1 T S-S s m:qﬂﬂfﬁaﬂmﬁég@w—gﬁaﬁﬁﬁ
oyl @ sw e
Attempt Five questions in all, selection at least one question from each Section. All questions carry
equal marks. :
W&Emﬁmﬁmwmmwm@,@ﬁwﬁwmmﬁuﬁ%aﬁw?l
Write your roll number on question-
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paper before starts writing answers of questions.

|
SECTION-A /@Ug-31
(10+10)

i
Write short note on the following :

\ 1

\ (a) Stock and Flow variables.

“. . &) Methods of Measuring National Income.
\ ‘ oo T ot ot fafen

\ (a) WP IR yaE

(b) T HF F A F Al

{
2. Discuss the Milton Friedman's reformulation of quantity theory of money with necessary
(20)

/
equations,

WW@WQ%@WW(QTMH%WW@?%@HRmﬁWl

P.T.0.
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i , (10+10)
3.  Write short notes on the following :

(a) Tobin's CBA.

(b) Baumol's Inventory Approach.
Frefafes W wie feofor fofem
@ AT = Hiowftowo

(b) S =1 w=5=q T

SECTION-B / @vs-¥

Explain the classical model of determination of employment and output. Discuss the impact of

wage rigidity in classical model with the help of diagrams and equations. (10+10)

TSR 3R IARA & Fruftor = wreiia wied %) orem w3 wrely oied 3 9ad e & ¥9E W
G SR G w TR ¥ == w5 i

5.  Write short notes on the following : (10+10)

(a) Relative Income Hypothesis.

(b) Absolute Income Hypothesis.
Frfafas w wfea fewfir fafew

(a) AUy T R
(b) IS A AEHT

6. Explain in detail the Samuelson theory of trade cycles and discuss its limitations. (20)

ﬁgwﬁwaﬁmﬁﬁvﬁmﬂwmﬁﬁquﬁmaﬁaﬁﬁamm‘

SECTION-C /@ug-u

7. Explain the Mundell-Fleming open economy model with the help of Diagram, (20)

st 9 e @ Fe-vaf gE sfreRd FISH ®t Sen wif)
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(10+10)
Write short notes on the following :
(i)  Monetary Policy Tools.
(i) Derivation of IS curve geometrically and mathematically.
Freifefian Wi fooforai i -
() wfxw ey s
(@) wefiita sk ity v @ smfotmo T F s

. in the
‘ iplies concept in t
Explain the determinate of Money Supply in India. Discuss the money multip _—
+
creation of money supply.

. <=
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